
RUTHBERRY PRICE LIST
effective 08/01/14

Item # Description List Price

300344 1 1/4" Foot Valve, Ref # - 2 $56.00

300343 1" Foot Valve, Ref # - 2 $30.00

6237 1/3 & 1/2HP - 42S & 82, Ref # - 9 $32.00

6234 1/3 &1/2HP-13GAL, Ref # - 9 $32.00

6235 1/3 &1/2HP-26 & 42T, Ref # - 9 $32.00

121484 1/4 PIPE PLUG GALV $5.10

120001 1/4 X 1/8 HEX BUSHING GALV $5.30

110519 1/4" 20 X 1-1/2" CAP SCREW C/P (3 REQUIRED FOR KX, KXD, LX, LXD, MX, MXD UNITS), Ref # - 28 $0.40

110520 1/4" 20 X 1-3/4" CAP SCREW C/P (2 REQUIRED FOR X, XD, FX, FXD, JX, JXD UNITS), Ref # - 27 $0.40

110520 1/4-20 X 1-3/4 CAP SCREW CP $0.40

121490 1-1/2 PIPE PLUG GALV $22.00

120027 1-1/2 X 1 HEX BUSHING GALV $16.50

121490 1-1/2" GALVANIZED PIPE PLUG , Ref # - 7 $22.00

120027 1-1/2" X 1" GALVANIZED HEX BUSHING (SUPPLIED WITH ALL SINGLE STAGE DEEP WELL UNITS), Ref # - 22 $16.50

6227 1-1/2HP - 42S & 82, Ref # - 9 $125.00

121484 1-1/4" GALVANIZED PIPE PLUG (ON ALL SINGLE STAGE UNITS), Ref # - 7A $5.10

325180 1-3/8" I.D. O-RING, Ref # - 26 $1.30

6222 1HP - 42S & 82, Ref # - 9 $125.00

325102 25-11 WITH O-RING 325192, Ref # - 3 $16.50

325103 25-38 WITH O-RING 325192, Ref # - 3 $16.50

325104 25-7 WITH O-RING 325192, Ref # - 3 $16.50

6360 3", 25 Nozzle, 11 Venturi $125.00

6361 3", 25 Nozzle, 38 Venturi $125.00

6364 3", 7 Nozzle, 11 Venturi $125.00

325495 3/4 SEAL ASSY TYPE 6, J601A $21.50

325494 3/4 SEAL TYPE 6, J601 $14.50

6239 3/4HP - 26 & 42T, Ref # - 9 $32.00

6240 3/4HP - 42S & 82, Ref # - 9 $32.00

110551 3/8" 16 X 3/4" CAP SCREW C/P (4 REQUIRED), Ref # - 37 $0.80

110551 3/8-16 X 3/4 HEX HEAD BOLT CP $0.80

6371 4", 25 Nozzle, 11 Venturi $220.00

6372 4", 25 Nozzle, 38 Venturi $220.00

6373 4", 25 Nozzle, 7 Venturi $220.00

6375 4", 7 Nozzle, 11 Venturi $225.00

6374 4", 7 Nozzle, 5 Venturi $220.00

325226 5/16" 18 X 3/8" Set Screw CUP POINT, Ref # - 36 $0.80

116031 5/16" FLAT WASHER (4 REQUIRED FOR MULTI-STAGE UNITS), Ref # - 29 $0.30

115010 5/16"-18 HEX NUT C/P (10), Ref # - 15 $0.30

110537 5/16"-18 X 7/8 CAP SCREW C/P (10), Ref # - 14 $0.80

115010 5/16-18 HEX NUT CP $0.30

110537 5/16-18 X 1 CAP SCREW CP $0.80

325226 5/16-18 X 3/8 SS SET SCREW K/P $0.80

325534 5/16-18 X 4-1/2 CAP SCREW CP $1.50

325223 5/16-18 X 6-1/2 CAP SCREW P $7.10

110537 5/16-18 X 7/8 CAP SCREW CP $0.80

325106 7-11 WITH O-RING 325192, Ref # - 3 $16.50

325107 7-38 WITH O-RING 325192, Ref # - 3 $16.50

325105 7-5 WITH O-RING 325192, Ref # - 3 $16.50

302514 ADAPTER-COMP BRASS 1/8M X 1/4M $6.50

60074 AVC KIT-1 STG WITH 1/4 X 48 TUBE $68.00

60075 AVC KIT-2 STG WITH 1/4 X 48 TUBE $165.00

302509 AVC ONLY-TYPE L $61.00

302511 AVC VALVE BRASS $11.00

60075 AVC,KIT,C/W,GAUGE, 1/4" X 48" TUBE-MULTI STAGE , Ref # - 2 $165.00

60074 AVC,KIT,C/W,GAUGE, 1/4" X 48" TUBE-SINGLE STAGE, Ref # - 2 $68.00

325283 BODY, JET SW, 1/3 & 1/2HP $10.50

1



RUTHBERRY PRICE LIST
effective 08/01/14

325337 BODY, JET, SW, 3/4HP $14.00

325193 BODY, JET, TWINLINE $160.00

60079 BOOSTER BODY, MODEL B $81.00

325290 BRASS ADAPTER COUPLING ASSY, 1-1/2 X 1 $98.00

325288 BRASS ADAPTER COUPLING ASSY, 3/4 X 1 $125.00

325438 BRASS SHAFT - 2 STG 3/4 X 5-1/8 $61.00

325484 BRASS SPACER WASHER 15/16 X 5/8 $3.50

325441 BRASS SPACER WASHER 7/16 X 7/8 $4.90

325440 BRASS SPACER WASHER 7/8 X 5/8 $3.10

325166 CORE SNIFTER VALVE $1.50

325471 DIVERTER ASSY 1 STG 1/2HP WITH O-RING $31.00

325473 DIVERTER ASSY 1 STG 3/4HP WITH O-RING $29.00

325475 DIVERTER ASSY 1/3-1/2HP WITH O-RING $28.00

325464 DIVERTER ASSY DW TOP WITH O-RING $160.00

325469 DIVERTER DW BOTTOM R/B STG $135.00

325412 FOR 120 GAL SYS., Ref # - 17 $20.50

325298 FOR 13 GAL SYS., Ref # - 17 $10.50

325416 FOR 13 GAL SYS., Ref # - 17 $11.50

325297 FOR 13 GAL SYS., Ref # - 17 $18.00

325400 FOR 26 & 42T GAL SYS., Ref # - 17 $9.80

325401 FOR 26 & 42T GAL SYS., Ref # - 17 $10.50

325418 FOR 26 & 42T GAL SYS., Ref # - 17 $11.50

325419 FOR 26 & 42T GAL SYS., Ref # - 17 $11.50

325403 FOR 42S & 82 GAL SYS., Ref # - 17 $10.00

325405 FOR 42S & 82 GAL SYS., Ref # - 17 $10.50

325422 FOR 42S & 82 GAL SYS., Ref # - 17 $12.50

325421 FOR 42S & 82 GAL SYS., Ref # - 17 $13.50

325473 FRONT DIVERTER FOR JX, JXD, WITH 0-RING 325180, Ref # - 33 $29.00

325471 FRONT DIVERTER FOR KX, KXD, LX,LXD, MX,MXD WITH 0-RING 325181, Ref # - 33 $31.00

325475 FRONT DIVERTER FOR X, XD,FX,FXD WITH 0-RING 325180, Ref # - 33 $28.00

325510 FX 1/2HP $490.00

325526 FX 1/2HP, max depth 25', 400 to 650 GPH $840.00

325433 GASKET CORK/RUBBER, Ref # - 16 $4.20

325433 GASKET RUBBER/CORK 8-3/4 X 6-1/2 $4.20

101047 GAUGE, PRESSURE, 2 X 1/4, 100 $8.30

325504 IMPELLER POLYCARB J707 $25.00

325505 IMPELLER POLYCARB J707A $29.00

325506 IMPELLER POLYCARB J708 $25.00

325507 IMPELLER POLYCARB J708A $31.00

325477 IMPELLER WITH BRASS INSERT FOR FX, FXD, Ref # - 34 $36.00

325518 IMPELLER WITH BRASS INSERT FOR JX, FXD, Ref # - 34 $85.00

325523 IMPELLER WITH BRASS INSERT FOR KX, KXD, Ref # - 34 $76.00

325530 IMPELLER WITH BRASS INSERT FOR LX, LXD, Ref # - 34 $76.00

325531 IMPELLER WITH BRASS INSERT FOR MX, MXD, Ref # - 34 $76.00

325477 IMPELLER WITH BRASS SHAFT 1/2HP $36.00

325530 IMPELLER WITH BRASS SHAFT 1-1/2HP $76.00

325523 IMPELLER WITH BRASS SHAFT 1HP $76.00

325531 IMPELLER WITH BRASS SHAFT 2HP $76.00

325518 IMPELLER WITH BRASS SHAFT 3/4HP $85.00

325011 JET MOTOR 115/230V 60HZ 3450 RPM - 1/2HP FOR FX,FXD,FP2D, Ref # - 37 $340.00

325002 JET MOTOR 115/230V 60HZ 3450 RPM - 1-1/2HP FOR LX,LXD,LP2D, Ref # - 37 $545.00

325000 JET MOTOR 115/230V 60HZ 3450 RPM - 1HP FOR KX,KXD,KP2D, Ref # - 37 $445.00

325005 JET MOTOR 115/230V 60HZ 3450 RPM - 2HP FOR MX,MXD, Ref # - 37 $560.00

325013 JET MOTOR 115/230V 60HZ 3450 RPM - 3/4HP FOR JX,JXD,JP2D, Ref # - 37 $390.00

325158 JET TWIN LINE BRASS 3 $94.00

325513 JP2D 3/4HP $740.00

325512 JX 3/4HP $555.00

2



RUTHBERRY PRICE LIST
effective 08/01/14

325527 JX 3/4HP, max depth 25', 600 to 1050 GPH $910.00

60078 Kit, booster w/ tubing, model B $97.00

325517 KP2D 1HP $805.00

325516 KX 1HP $640.00

325528 KX 1HP, max depth 25', 1050 to 1800 GPH $1,090.00

325290 LARGE BRASS ADAPTER WITH 1-5/8" O-RING (325181), Ref # - 6 $98.00

325519 LX 1-1/2HP $670.00

325481 MOTOR BRACKET (2HOLE) FOR X, XD, FX, FXD, JX, JXD, Ref # - 35 $160.00

325482 MOTOR BRACKET (3HOLE) FOR KX, KXD, LX, LXD, MX, MXD, Ref # - 35 $175.00

325483 MOTOR BRACKET (4HOLE) FOR ALL 2 & 3 STAGE UNITS, Ref # - 35 $175.00

325481 MOTOR BRACKET 2 HOLE 1/3 & 1/2HP $160.00

325482 MOTOR BRACKET 3 HOLE 1 & 1-1/2 HP $175.00

325483 MOTOR BRACKET 4 HOLE STG PUMPS $175.00

325051 MOTOR LEAD WIRE - 26", Ref # - 11 $16.00

325051 MOTOR LEAD, SJ W/F RECEP 16/3 X 26 $16.00

325011 Motor, pump, jet, 1/2HP, 115V, 1 PH keyed shaft $340.00

325002 Motor, pump, jet, 1-1/2HP, 115/230V, 1 PH keyed shaft $545.00

325000 Motor, pump, jet, 1HP, 115/230V, 1 PH keyed shaft $445.00

325005 Motor, pump, jet, 2HP, 115/230V, 1 PH keyed shaft $560.00

325013 Motor, pump, jet, 3/4HP, 115/230V,1 PH keyed shaft $390.00

325525 MX 2HP $700.00

325146 NOZZLE 1/4" X 2-1/16" $48.00

325442 NUT LOCK SS 7/16-20 $6.60

302512 NUT-ADAPTER BRASS 1/8 FIP X 1/4T $10.00

325180 O-RING BLACK RUBBER 1-3/8 ID $1.30

325181 O-RING BLACK RUBBER 1-5/8 ID $1.40

325192 O-RING BUNA-N BLACK 7/8 X 1-1/8 $0.70

325195 O-RING ON ALL TL3 AND TL4 MODELS (7/8 X 1-1/8), Ref # - 4 $1.00

325181 O-RING RUBBER, 1-5/8" I.D., Ref # - 8 $1.40

325293 PIPE, 1-3/8 PVC $5.60

325338 PIPE, 1-5/8" PVC $8.70

325400 PVC TUBE-DW1 STG 26-42 T 1-3/8 $9.80

325403 PVC TUBE-DW1 STG 42S-82 1-3/8 $10.00

325429 S.S. RETAINER RING REQUIRED FOR 1" SEAL (325202), Ref # - 5A $8.30

325203 SEAL ADAPTER RUBBER 1 $7.60

325495 SEAL ASSMBLY - MULTI-STAGE UNITS (THIS SEAL IS SAME AS 325494 WITH A DRIVE RING 325496 ADDED), Ref # - 32 $21.50

325494 SEAL ASSMBLY - SINGLE STAGE UNITS , Ref # - 32 $14.50

325202 SEAL REQUIRED FOR 1" SUCTION PIPE, Ref # - 5 $7.60

325435 SEAL REQUIRED FOR 1-1/2" SUCTION PIPE, Ref # - 5 $4.90

325203 SEAL REQUIRED FOR 1-1/4" SUCTION PIPE, Ref # - 5 $7.60

325437 SHAFT COLLAR W/SET SCREWS SET SCREWS REQUIRED, ONE OF EACH, Ref # - 36 $16.00

325437 SHAFT COLLAR WITH SET SCREWS $16.00

325166 SNIFTER VALVE CORE ONLY, Ref # - 3A $1.50

101302 SNIFTER VALVE OLD #A1401 $8.20

60502 SWITCH, PUMP $49.00

325850 Tank, RB26 16 x 30, 26 gallon $615.00

325851 Tank, RB42 16 x 48, 42 gallon $650.00

325158 Twin line jet body, brass TL3 models, Ref # - 1 $94.00

325193 Twin line jet body, brass TL4 models, Ref # - 1 $160.00

325102 VENTURI POLY WITH O-RING 25-11 $16.50

325103 VENTURI POLY WITH O-RING 25-38 $16.50

325104 VENTURI POLY WITH O-RING 25-7 $16.50

325106 VENTURI POLY WITH O-RING 7-11 $16.50

325107 VENTURI POLY WITH O-RING 7-38 $16.50

325105 VENTURI POLY WITH O-RING 7-5 $16.50

116030 WASHER, 1/4 STEEL $0.30

116031 WASHER, 5/16 STEEL $0.30

3



RUTHBERRY PRICE LIST
effective 08/01/14

325446 Tank, GV13 14 x 20, 13 gallon $520.00

325448 Tank, GV26 16 x 30, 26 gallon $560.00

325450 Tank, GV42T 16 x 48, 42 gallon $615.00

325452 Tank, GV42S 20 x 30, 42 gallon $615.00

325454 Tank, GV82 20 x 60, 82 gallon $920.00

325456 Tank, GV120 24 x 60, 120 gallon $1,200.00

4


